Word Problems: Adding and Subtracting

Solve the problems using addition and subtraction

Jack has invited friends over. He invited
15 people. 4 of them couldn’t come, so
he also invited 6 other people. How
many friends are at Jack’s house?

Claire is buying fruit at the market. She

asks for 2 apples, 8 pears, and 3 oranges.

When she is about to pay, Claire realizes
that she has too much fruit. She puts
back 3 oranges and 2 apples. How much
fruit does she have left?

William wants to make a flower bouquet
for his mom. He buys 10 white roses, 7
red roses, and 9 tulips. His bouquet is too
big and so he takes out 2 flowers. How
many flowers are left in the bouquet?
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William wants to make a flower bouquet
for his mom. He buys 9 white roses, 9 red
roses, and 7 tulips. His bouquet is too big
and so he takes out 3 flowers. How many
flowers are left in the bouquet?

Jack has invited friends over. He invited
12 people. 5 of them couldn’t come, so
he also invited 3 other people. How
many friends are at Jack’s house?

Claire is buying fruit at the market. She
asks for 2 apples, 8 pears, and 3 oranges.
When she is about to pay, Claire realizes
that she has too much fruit. She puts
back 3 oranges and 2 apples. How much
fruit does she have left?



